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Calculations

Show your computations. Place your answers in the Calculations Table.
1. Calculate the volumes of acid used in the three trials. Record in the Calculations Table.

2. Calculate the volumes ofi)'asc used in the three trials. Record.

3. Use equation (3) in the introductory section to determine the moles of acid used in each of the three trials. Record
in the Calculations Table.

4. The balanced reaction between HCl and NaOH is

HCl(ag) + NaOH(aq) — NaCl(ag) + H,0(8)

Use the mole ratio and results from Calculation 3 to determine the moles of base used to neutralize the acid in
each trial. Record in the Calculations Table.

‘The mole ratio of HCI to NaOH in the above equation is one to one. According to equation (1),

moles base =
moles acid
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